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foret IuTgEEIe Aiffes # fFfafed fore & 9 si9-91 Su guE=Ear et
Hehdl & ?

29—

(A)  NHj B)  SO;

(C) NOj (D)  Cy0%~

THad NiCly, . ANH3 % 1 Hid § AgNO4 foe i 1 @ AgCl & @ 9ia

faftid gu | ¥ | Ni i fgdies Sastendar g
(A) 4 B) 2

C 3 (D) 6



General Instructions :

Read the following instructions carefully and follow them :

(1)
(ii)
§22)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

16x1=16

Which of the following ligands can show linkage isomerism in a

coordination compound ?

(A) NHs (B) SO,
(C) NO; (D)  Cy05~

On adding AgNOgj solution to 1 mole of complex NiCly . 4NHg, two moles

of AgCl are formed. The secondary valency of Ni in the complex will be :
(A) 4 B) 2

C 3 (D) 6
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3.  UshHY I AEM & fHyerg S < § Fifeh
(A) 3T GHM FiRIeh fo=amd 2id &
(B) 3eh! UM UM T Bt &
(C)  IThl THM SATeRETeRTur FeeTd grel 8

(D)  3eh T TU ULHTY] AHMY (A1SH) Bd 8

4, Tafafaa siffean w fomm $ifsw

ITH J&F IS 8 :

Br

5. TafafRaa fest & @ fhmert pK, 7H 3=ad 8 ?

(A) p-ﬂ@?ﬁ‘ﬁﬂ
(B) m-TgIbHTA
(C) p-shEiA

N~ o

(D)  2,4,6-2EABLGHMI

6. CgHs—O— CHg %l HI H1Y 3A1%ehd fohT S T a1 3 :
(A) CgHs-1I+CHz-OH
(B) CgHs-OH + CH3-1
(C) CgHz—OH + CH3— OH

(D) CGH5 I+ CH3 -1



3. Transition elements form alloys easily because they have :
(A)  same electronic configuration
(B) same enthalpies of atomisation
(C) same oxidation states

(D) nearly the same atomic size

4. Consider the following reaction :

The major product obtained is :

Br

5. Which one of the following compounds has the highest pK, value ?
(A)  p-Nitrophenol
(B) m-Nitrophenol
(C) p-Cresol
(D)  2,4,6-Trinitrophenol

6. CgHs — O — CHg when treated with HI gives :
(A) CgHs-1+CHz-OH
(B) CgH;-OH+ CHg-1
(C) CgHsz-OH + CH3- OH
(D) CgHs;-1+CHg-1
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7. fafafga @ftes 8 9 wa-E 954 gGewiFa Fase & gy stfiufsean o

I-3TfIAT IcUTe ST 8 2

(A) (CHg)3N
(B) (CHg),NH
(C) CHsCH,NH,

(D) CgHsNH,

8. Trfafiga Wfel & & - smifdertey stfrfsean gar 2 2
(A)  CoHsNH,
(B)  (CoHg)yNH
(C)  (CoHp)sN
(D)

9. Torm faerfim < =t o vror Tl st=ar’ gidi @ 2
(A) B (B) C
C) K (D) A

10. feret foeta X 1 1% forea Ghi| (WIeR go9™M = 342 g mol 1) % 6% faermm
& 1Y gAY 2 | fIe X 1 Aol gouH |

(A) 342 g mol™
(B) 57 gmol™’
(C) 114 gmol™?

(D) 342¢g mol !



7. Which of the following compounds on treatment with benzene sulphonyl
choride forms product insoluble in alkali ?

(A) (CHg)sN
(B) (CH3),NH
(C) CH3CH,NH,

(D) CgHsNH,

8. Which of the following amines gives carbylamine reaction ?
(A) CyHszNH,
(B) (CoHpz)9NH

(C) (CgHp)3N
(D)

9. ‘Night-Blindness’ is caused by the deficiency of Vitamin :
(A) B (B) C

C) K D) A

10. A 1% solution of solute ‘X’ is isotonic with a 6% solution of sucrose (molar

mass = 342 g mol™1). The molar mass of solute X’ is :
(A) 342 gmol™!

(B) 57g mol !

(C) 114 gmol!

(D) 342¢g mol !
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11.  foret stfufsren o stfirrres o Trfees wigar g1 i W 314-311Y §HH &l
8 | srfwfsean 1 =ife 7

(A) 99H

(B) g

C 3

1
(D) 3

o [N e

12. fr=fafga § 9 a1 fgdas aa 2 2
(A) I A
(B) e 99 Ud

(©) R ¥|
(D) =3I o

9T GC&IT 13 @ 16 & (70, 31 %97 30 10 § — 578 Uk &7 o197 (A) Tor
gt &1 FRUT (R) FRT Silha a7 71 § | 37 9971 & @g1 I 714 130 7T Figt
(A), (B), (C) 3R (D) ¥ & g T |

(A) IAH (A) AR FHRO (R) ST F1l & 3 FHRO (R), AHRSA (A) H
e AT HLaT B |

(B)  AfheM (A) 3R &R (R) gHI &t &, W SR (R), 3fUHAT (A) i
& U] FgT il g |

(C)  AfTReH (A) ¥l B, T SR (R) T ® |

(D) AR (A) Teld B, T R (R) @& R |



11. When the initial concentration of a reactant is doubled in the reaction,
the half life period remains same. The order of reaction is :

(A) First
(B) Second
(C) Zero

1
(D) 3

12. Which of the following is a secondary cell ?
(A) Dry cell
(B) Lead storage cell
(C) Mercury cell

(D) Daniell cell

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
56/3/2-13 9 VWMWY P.T.O.



13.  37YHYT (A) : SEH a8 & I AfygoH 3T AfysrV I 810 7 |
FRU(R): ey e #@  foou-foames  s==afsamd,  3g

o

foemeh-foeme sAfhanetl iR 3g  Too-faed
TAfshaTet o TH &l Bt B |
14. 3797 (A) : M | ghg o @ afufsean o & gfg gt 2 |
FRU(R): M A gig % T gl weedt i wea § Iy Bt 7 |
15.  379%Y7 (A) : STEHIYA SR I o1 H UIHTA 1 Fa-Th Il 8ial & |
FROUT(R):  STSHIYA 3 o U] EEGISH ATEYH g Felg 8Id & |
16.  377%eT (A) : Uila hisd-shraed Affshan it 8 |

FRU(R):  ShiSA-shacd ATUMhaT § TS, Tq9 3 AlClg & 91 oaul
ST B |
Qs g
17. TrfafRad < @19 oppra i stfufsean foafe 2x1=2
(%) H,N-OH
(@) BryJd
18. Timfcifaa Tamfes SAfufshamati =t qui T dqferd i : 2x1=2

(%) KMnO; ——

(@) 2MnOj; + 5Co0; +16H" —

19. (%) Uiad FAam fewes st gitnfya e | a8 Tom wdedt @ fhm TR

Fefd 8 ? 2
HYAT
(@) TuIHTeA 3R WHi o grn fora YR o1 faaem goiiam SiTam 8 2 SR
A | 37 faaem 9 Thm R 1 feoraaneft fusor ffitfa g g 2 2
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13.

14.

15.

16.

17.

18.

19.

Assertion (A) : ApixH and A,;V are zero for non-ideal solutions.

Reason (R):  Solute-solvent interactions are not same as pure
solute-solute and pure solvent-solvent interactions in
non-ideal solutions.

Assertion (A) : Rate of reaction increases with increase in temperature.

Reason (R): Number of effective collisions increase with increase in
temperature.

Assertion (A) : The boiling point of ethanol is higher than that of
dimethyl ether.

Reason (R): Dimethyl ether molecules are associated through
hydrogen bonding.

Assertion (A) : Aniline undergoes Friedel-Crafts reaction.
Reason (R):  Aniline forms salt with AICl3, the Lewis acid in
Friedel-Crafts reaction.

SECTION B
Write the reactions of glucose with : 2x1=2
(a) HyN-OH
(b)  Bry water
Complete and balance the following chemical equations : 2x1=2

(@) KMnO, —2eat

(b)  2MnOj + 5C0% + 16H' —

(a)  Define molal depression constant. How is it related to enthalpy of
fusion ? 2
OR

(b) What type of deviation is shown by ethanol and acetone mixture ?
Give reason. What type of azeotropic mixture is formed by that
deviation ? 2

56/3/2-13 11 WAV NN P.T.O.



20. (%) fFmfafgd Fa & @ HE-AT g Afes Syl Al d dear =
rffsham sum I 1 2
(@) FARE= #1 fgga el aeaciafaaa Fiigs & gar § &0 w2
&I 2 ? 1+1=2
21. (%) Torelt arfufshan o, wfe rfiehies X’ <1 |igal 9 71 & & STt 7, o
rffshan A7 TS TAT B ST 3 | AR <t hife I R 2
(@) U ufifeufa sarse e 18 fgenfoas sifufsran nfdewra: gem =ife 6t
THfsha Bidt & | UE SAMThaT 1 Tk 3gTaeuT 2T | 1+1=2
Qug
22, frfaf sl # A, B 3t ¢ 1 gt Af 2x1- =3
23. 3 f=fefaa wamaor fhe yr T at ? (Fig 777) 3x1=3
(%) doligeh 3 § draAfcealss
(@) U T U
(M) VHRIGHAH ¥ aege T
(|)  SEEeE ¥ 1-BAeudRTa

56/3/2-13

12 VWAWWWAWWWAWAVNAVVIWANAVN



20. (a)

(b)

cyclohexyl chloride ? 1+1=2
21. (a) In a reaction, if the concentration of reactant ‘X’ is tripled, the rate
of reaction becomes twenty-seven times. What is the order of the
reaction ?
(b)  State a condition under which a bimolecular reaction is kinetically
a first-order reaction. Give an example of such a reaction. 1+1=2
SECTION C
22. Give the structures of A, B and C in the following reactions : 2x1 é =3
23. How will you bring about the following conversions ? (any three) 3x1=3
(a) Benzoic acid to Benzaldehyde
(b) Ethanal to Propanone
(c) Acetophenone to Benzoic acid
(d) Bromobenzene to 1-Phenylethanol
56/3/2-13 13 VWMV P.T.O.

Which halogen compound in the following pair will react faster in
Sn1 reaction and why ?

Why is the dipole moment of chlorobenzene lower than that of



24, (%) T=faRaa afufsraneti o aftifera g fafau
i) TER-EHT Affsha

(i) ohics SATTHAT
(@) $HA & ST T 2,4,6-TESHBHIA o4 B TIh Al &1 AW
fafeT | 241=3

25. T UMW hiTe hl MHIRAT FI 25% T 3 H 40 e @md & | o Feemres

A 9iehierd shifsTe, | fehaw @w o g tfyfsham 80% ot gt 2 3
[feam T 2 log 2 = 0:30, log 3 = 0:48, log 4 = 0-60, log 5 = 0:69]

26. (%) 2FHELA % TA-JTHA H (£)-YA-2-ATA o4 H fopd FHR i
TR IfEemae (Sy1 312ET SN2) Bidl 8 ? RV ST |

(@) 1 Ba1 8 6 FARISH 3R iU FANSES i Y6 32X § FIfeIH 91g
o |19 3Tfehd foham STm 8 2 2+1=3

27. 02 M KCI faa= st arerehdl 2:48 x 1072 S em™' ® | THh! HIeR ITaiehdl 31
IERISER I EIRC AR LEANLRE S 3
e T B

7”(;{+ =735 S em? mol !

2°  =765S cm?mol!
Cl™

28. 200 g 91 § fopet ramasfic foae & 5 g ol =icte foerm sAmRT M |
300 K W 35T 9157 €19 31-84 mm Hg ? | I =1 Wier geau ufiepfera

i | 3

(300 K W 3G A 1 a9 g1« = 32 mm Hg)




24.

25.

26.

27.

28.

(a)  Write the reactions involved in the following :
(i) Reimer-Tiemann reaction

(11) Kolbe’s reaction

(b) Name the reagent used in the bromination of phenol to form
2,4,6-Tribromophenol. 2+1=3

A first-order reaction is 25% complete in 40 minutes. Calculate the value

of rate constant. In what time will the reaction be 80% complete ? 3

[Given : log 2 = 0-30, log 3 = 0:48, log 4 = 0-60, log 5 = 0-69]

(a)  What type of nucleophilic substitution (Sy1 or Sy2) occurs in the

hydrolysis of 2-Bromobutane to form (+)-Butan-2-ol ? Give reason.

(b) What happens when chlorobenzene and methyl chloride are

treated with sodium metal in dry ether ? 2+1=3

The conductivity of 0-2 M solution of KCl is 2:48 x 102 S em™. Calculate
its molar conductivity and degree of dissociation (« ). 3
Given :

20, =735 em” mol ™

2°  =765S cem?mol !
Cl™
A solution is prepared by dissolving 5 g of a non-volatile solute in 200 g of
water. It has a vapour pressure of 31:84 mm Hg at 300 K. Calculate the

molar mass of the solute. 3

(Vapour pressure of pure water at 300 K = 32 mm Hg)

56/3/2-13 15 WAV NN P.T.O.



Qus ¥

RETfeTiega Jo7 3@ 3eTRT I97 & | 34 1 7% Tigq 3 17T T8 o4 & I T |

29. UIEH S9-aF § HiYes U I At 99 Y 8§ | WA A ot 9 o Qe
3TFAl o gk BId & Sl ATE H ULIEE MY g Je BId & | 38 U 31
3TEveh UHHT 30 heatd & | Saet e &9 o, UiHl o1 Iwagl wehid
T & RAiTch d AT Ud &Rl gl o a1 ATIThAT HLd B |

3TUeh 3ATehId o TR W WIEHT I &1 I H Ffichd fohal I & @ WIER 3R
MIARERR TIEH | TEFT I HEHAT TH IATehId 1 eI IR o TR 9T fomalm
ST |ehdl 3 : TR, fgdiaeh, Jaie Td Igsh S=qT | o &R 04 & 6
I B AfYH et Bia1 3 | pH &1 ad | qiaaq & Il i fgedees a
Jlaeh LT T8 Bl AT & 3R 3 379+ TRl i § 98 =81 &d | 39 TIH
o1 Terepcliehtu hed & |

frfafaa yet & 3@ df
() SravEh UHHT AFA 1 BId € 2 1
(@) U orwedi % fSaet smafaes w9 & = eifirgm B 2 1
(M @ WER 91 G MAhERR TEH 1 Toh-Th I T |
(i) SIEHI o Tehatehl i TohE SRR T 91 SATg T@AT & ? 2x1=2
AU

(M) (1) 98 HA-E GEAcHes fafsmwear 8 S oTu=mft sehu & rfireteror
ST & 2

(i) IFATEEE R fFATEE H T TLEHICHS S BT 8 7 2x1=2
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Proteins are the most abundant biomolecules of the living system.
Proteins are the polymers of about twenty different a-amino acids which
are linked by peptide bonds. Ten amino acids are called essential amino
acids. In zwitter ionic form, amino acids show amphoteric behaviour as

they react both with acids and bases.

On the basis of their molecular shape, proteins are classified into two
types : Fibrous and Globular proteins. Structure and shape of proteins can
be studied at four different levels i.e., primary, secondary, tertiary and
quaternary, each level being more complex than the previous one. The
secondary or tertiary structure of proteins get disturbed on change of pH
or temperature and they are not able to perform their functions. This is

called denaturation of proteins.

Answer the following questions :
(a) What are essential amino acids ? 1
(b) What is meant by zwitter ionic form of amino acids ? 1

() (1) Give one example each for Fibrous protein and Globular

protein.

(ii)) What type of linkages hold monomers of proteins together ? 2x1=2

OR
(c) (1) What is the structural feature which characterises a reducing

sugar ?

(11) What is the structural difference between nucleoside and

nucleotide ? 2x1=2

56/3/2-13 17 WAV NN P.T.O.



30. THHY Tl oh THE b HeH H (n— 1)d STFHI hl WTTEHT 3 el ol $S
fafsme 7o yem Hdt B | o1 el stfadiehtor sraenstt & rfafics dshAr
UTgy STIFEhIT U7 SR Ik 07 STt & qe T oA s R vafa i
STt B | HeRHUT 9Tq¢ Sgd € AUTGR, S8 AfewiSH, gl adl garsHl 9
rfufsham ST & | KMnO, 3T KoCryO $h TTHT 3ETEW & |

AT HehHYT doal <hl @l ARET A-IHTIe qen Uldedias 3Tred gRvil & fsdish
H T B 7 | OHISl B AfHEH o Soiggdl oh YUl U TWE

(imperfect shielding effect) 3 RO T AR H afg % |1 YTATY] HTH

H it B9 BIaT 3 S8 R0l 3MHad gl 7 |

() HSHHUT UTU qAT Ik AlfiTeh 3= IcUTh <hl Hifel AT 1 HLd & ?

(@) TFAATIST H ILHTY AT (size) B STTeheH I AT SR g ?

() TOATIE ATHe I IRWING hHINT | I8 g dshAwr avft @ g
TehAUT 0ft <1 TEATY] BrsareTi i foh® ThR JHTfard ShidT B 2

AYAT

(1) Sef me 8§, Cr’t sgaT Fe?™ § & #H-91 Yo S99 3 31K il 2



30. The involvement of (n — 1)d electrons in the behaviour of transition
elements impart certain distinct characteristics to these elements. Thus,
in addition to variable oxidation states, they exhibit paramagnetic
behaviour, catalytic properties and tendency for the formation of coloured

ions. The transition metals react with a number of non-metals like

oxygen, nitrogen and halogens. KMnO, and KyCryO; are common

examples.

The two series of inner transition elements, lanthanoids and actinoids,
constitute the f-block of the periodic table. In the lanthanoids, there is
regular decrease in atomic size with increase in atomic number due to the

imperfect shielding effect of 4f-orbital electrons which causes contraction.

Answer the following questions :

(a) Why do transition metals and their compounds act as good

catalysts ? 1
(b) What is the cause of contraction in the atomic size of lanthanoids ? 1

(¢) Define lanthanoid contraction. How does it affect the atomic radii of

the third transition series and the second transition series ? 2

OR

(¢) In aqueous media, which is a stronger reducing agent —

Cr?* or Fe?* and why ? 2

56/3/2-13 19 WAV NN P.T.O.



31. fa=fcifga & 9 fdl g a9t & 3¢ fofau 5x1=5

(%) HHdA [Co(Hy0)(CN)(en)y) >t w1 IUPAC 1 feifam |

(@) o Iqhcthd Tpal FH g1 e TR & Teheqt foieg shegld a1g 3TRA
o SIS B, SATHA qHTEFadT =1 999 &l gl ?

(M) FAfAiad g SRET S 3Th! fohted & fadted S (A,) % F6d 7
Wﬁmﬁ%@ﬁﬁ

[Co(NHy)gl*, [CoFgl®, [Co(CN)g3

(7) wSehar oey fAgid % MU W HHe [Ni(CO)yl & Tehio TH
TIhIT SEgR i fofau |
[Ni 3T 9THTY] ShHTeh = 28]

(8) [CoFgl®™ 3T [Co(Cy0,)3]> Tl H & hIH-AT Heped :
(i) 3Tl wrli g ?

(i) 3 TR 9 & ?

(@) 3IwFe foe 3R fegqu fovre # o st 8 2

(B) oTCHEH & § d° 1 i = ty, 3 e, & ol H foafay
S E R
i) A,>P, 3R (i) A, <P



SECTION E

31. Attempt any five of the following : 5x1=5

(a) Write the IUPAC name of the complex :
[Co(Hy0)(CN)(en)gl**
(b) Why is geometrical isomerism not possible in tetrahedral complexes

having two different types of unidentate ligands coordinated with
the central metal ion ?

(c) Arrange the following complex ions in increasing order of their
crystal field splitting energy (A,) :
[Co(NHg)gl**, [CoFg]>™, [Co(CN)gl*
(d) Write the hybridization and magnetic character of the complex
[Ni(CO)4] on the basis of valence bond theory.
[Atomic No. : Ni = 28]

(e)  Out of [CoFg]l 3~ and [Co(C904)3] 3= which one complex is :
(1)  more stable ?

(ii) the high spin complex ?

(f)  What is the difference between an ambidentate ligand and
bidentate ligand ?

(g)  Write the electronic configuration of d® in terms of tog and eg in an
octahedral field when :
i) A,>P, and Gi) A,<P
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32. (&) () 25°C W F=Afcfaa o« 1 fa.a1. s (emf) Iiepfoa Fifve .
7n (s) | Zn* (0-001M) | | Ca®* (-1 M) | Cd (s)

™ E° -_076V, E° =—040V [log10=1
e e & Zn?*/Zn * T cd?tod llog !

(i) HUS % fagd-31aeed 1 fgd 9™ FasT | NaCl & Sl foeem
i pH fp8 TR & wwifaa grft Sia sHeht forga-etqered foham S
8 ? 3+2=5

AAAT

(@) () F=fafea aa stfafsean & e A,G° 3R log K, ufehfaa Hife
Fe (s) + Ag" (aq) = Fe2+(aq) + Ag (s)
(0] (0]
o m R B opp =~ 044V, By, =+080V

1F = 96500 C mol

(i) wrafies 3t fodlues Sef@i & a1Uem Suq 9l & i oY
faRew |

(iii) 17 HyO & Oy § ATafiehtur & fofu fohaa HUe otmawse gt ?
3+1+1=5



32. (a)

(b)

56/3/2-13

(1)

(i)

(1)

(ii)

(iii)

Calculate emf of the following cell at 25°C :

7n (s) | Zn* (0-001M) || Ca®* (-1 M) | Cd (s)

Given : E° =-076V, E°

2t o 2egy =~ 040V llog10=1]

State Faraday’s second law of electrolysis. How will the pH of

aqueous NaCl solution be affected when it is electrolysed ? 3+2=5

OR

Calculate the A,G° and log K, for the following cell reaction :

Fe (s) + Ag' (aq) = Fe2+(aq) + Ag (s)

(0]

. (0}
Given : E =-044V, EAg+/Ag

Fe2t/Fe
1 F = 96500 C mol

- +080V,

Write any two advantages of the fuel cells over primary and

secondary batteries ?

How many Faradays are required for the oxidation of 1 mole

of HQO to 02 ? 3+1

23 VWAV VWV WAVVVAWVVIWWWAWVY

+1=5

P.T.O.



33. (&) () Tr=fafaa safufsraneti % gea 3aure fofaw

(i) F=fIfaa i e § favg sE & ot ota qEEtes gdeo
CUELE

(1)

(2) YA IR Y=eH-3-31 34+9-5

AAAT

(@) () F=fataa & faw s di .

o

(1) GHipETeEe H had Th — NH, 98 SHhEE o= |

o N

gfeferd gar 2 |

(2) UHRE H g § wEfeegges HCN I & Uid 31freh
AffspaTsiict 2T 2 |




33. (a) () Write the major product(s) in the following reactions :

(i1) Give simple chemical tests to distinguish between the
following pairs of compounds :

(1)

(2) Pentanal and Pentan-3-one 3+2=5

OR

(b) ()  Give reasons for the following :

(1) In semicarbazide, only one — NH, group is involved in
the formation of semicarbazone.

(2)  Acetaldehyde is more reactive than acetone towards
addition of HCN.

56/3/2-13 25 WAV NN P.T.O.



() (1) F=RIREd i Ieh ity Tmed % =9ed g A H FAfead
@ﬁm :
CH3COOH, OyN — CHy — COOH, HCOOH
2) Tr=fafga Afufsran & fou syt = 9w ffge -

CHy—CH=CH-CHy—CN —"

CH3 - CH=CH-CHy - CHO

(iii) FA-BrcTe-Sferehl Afufsrar & wftrfera srfifsran fafigw | 2+42+1=5



(ii)) (1)  Arrange the following in decreasing order of their acidic

strength :
CH3COOH, O3N - CHy - COOH, HCOOH

(2) Name the reagent in the following reaction :

CHy-CH=CH-CHy—CN —

CH; — CH = CH - CH, — CHO

(i1i)) Write the reaction involved in Hell-Volhard-Zelinsky reaction.

242+1=5





